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2T AR £ 19, 19,985 8,905,807 10,291,088
2 2,970,000
o] 500,000
< 3,516,000
= 12,210,985
U E Mo DA E4 14,857,793 8,103,638 6.754, 155
2 2,730,000
o] 500,000
< 1,644,000
2 9,983,793
SaEBRY S22 581,865 438,108 143,757
=58 2 fE2e 85,150 77,650 7,500
201 Ysrey) 78,150 71,900 6.250
IREERL 78,150 71,900 6,250
ogam AN M 200, 00004 5602 12,000
OBBX SEZ01Z M 12,5002 +5008 4 6.250
og+=s XY 2, 0002 5002 1,000
oI AmA M 00,0000 <60%! 6.000
© 2 WROIBH(ESEN) M
50,0000 +1002! 5,000
OOIUER BUAS(SHW)H
25,0000 1002 2,500
OLHT 22 AHE AN
50,0000 =402 * 15 20,000
ORIUHE = 100, 0002 » 1074 £ 1,000
OHET B2 Ha0 M 100,002 <50} 5,000
OFRUT AN 100, 0002 » 107 4 1,000
OBEA R HES T 2E 7Y
500074 %3, 0002 15,000
oz22= 2 100, 0002 x34% 3,400
208 @SEIY) 4,000 4,000 0
I EEEEEETT 2,000 7,000 0
OLHEBBN BE AXEX
20,0002 * 10210} 2,000
OYRBBI FHBE APEX
20,0002 * 102 +10] 2,000
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2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
405 KHAHE S 3,000 1,750 1,250
01 XAMYESEFSH 3,000 1,750 1,250
OF=XR2H A 3,000,00024 *1CH 3,000
2R e 496,715 360,458 136,257
101 QI AH 35,823 23,835 11,988
10 JIZH22XUEES 35,823 23,835 11,988
O4lh 82 35,823
Oo=2pdz2e2
421,991,000 * 45/1,000 18,990
Ot EZ 421,991,000= * 6/1,000 2,532
onggsa 421,991,000+ 15/1,000 6,330
onuBEZ 421,991,000 * 18.15/1,000 7,660
oRYzBEE 7,660,000 * 4.05/100 311
201 LEr2HH| 439,292 320,483 118,809
01 AtR22IH] 22,800 19,064 3,736
OMA7Q 5,000 *40E+ 122 2,400
OECAAEH 2H2 (13 A)
100, 000 *13JH A * 122 15,600
OHN & =& 200,000 2% 122 4,800
02 2229 416,492 301,419 115,073
ORERZ 1,506
O &7 1,720 x405+12€ 826
O B 3402 *2, 000 680
(CFSIgNE=¥=4 13,0002 *43] 52
OYeZALXE @2 3,500,000 128 42,000
FHE AT 23 1,000,000 122 12,000
OFHZ SA(H2IH) 22
1,000,000 122 12,000
OMHI £ 242 1502 10, 000kg* 122 18,000
oY Azt 288,000 x50 A 1,440
OO0 I| A=zt 200,000 42 800
OFI|HE R At CHEH S22
1,230,000 122 14,760
OCCTVS X 22 500,0002 122 6,000
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chel:

=) = 1
A== X ots BBA X
SETABR E2U2E

SA - M. CHY (B o .IHM2 A} OH HEE Hl o =2t
O2LsXel =25 412,920 & *73l 2,891
OxZdAMN =5 50,000& 13| x12& 600
OZYANE=E 2F =2 17,304
OJtEdHE2LE =2 22,000& = 12& 264
OXEIE =5 200,000 = 12& 2,400
ORIINXIA &= 6,000
OZAANAE FX
50,000 x10CHx12& 6,000
OLEH LIHAIAE 122
200,000& x12& 2,400
OSRHIEHT D] 20,000& = 12& 240
(©)=3= 3= 16,680
OO0IE=H B2 3,500,000 *13] 3,500
OO0IEXt B8 80,000 = 1CH 80
OXtsx Ed& 550,000 =2CH 1,100
OEgI 2d& 6,000,000 *2CH 12,000
O HIe= 260,400
O A LTl 2 13,392,500& x12& 160,710
O A TLSH AL 8,307,500 x12& 99,690
© XERAXHl 10,059
O L2858 3,349, 0002 = 1CH 3,349
O4agst=2 2,605,000 =2CH 5,210
OO0lEXt 500,000 =3CH 1,500
202 OiHl 15,600 10, 140 5,460
01 =Wobl 15,600 10,140 5,460
O=UH=E0HI 65,0003 x20H 122 15,600
206 MEH 3,000 3,000 0
01 M=l 3,000 3,000 0
C=HMel&d 228 +
30,000& *10&+102] 3,000
301 getEazg 3,000 3,000 0
10 dAIAHIEAZ 3,000 3,000 0
OAtal &Ml ¥ K20 NSAH &4 2
a3 10,000& x5%H 60 3,000
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ol SREDEN ANLE 2% 2 e (er9: @8
A BB O(B) - NEAY - BAS Of o e Hl R =2

gzl AldEe 22 2 z2el 983, 128 699, 283 283,845

A2 2922 492,371 357,132 135,239

101 el | 115,116 75,377 39,739

10 JI2ZHH22sSEs 115,116 75,377 39,739
OFH& z2e| o2 63,037
@)y 30,9002 x5H 251 38,780
Osg2=® =¥ 30,900 *150%*52 x62 14,369
Osss5gsY 30,9003 x5 H x52 8,034
OAXt=< 30,900 x5 x 12 1,854
OXAAEI S 2 QIR Y 12,608
oogy 30,9003 »1H+251 7,756
Osgax=e:=g 30,9003 »150%+ 1«62 2,874
ORragsgdsg 30,9003 1 »52 1,607
Ogxt=¢ 30,9003 x1H«12¢d 371
OxM&TAIZ 22| 2R Y 12,608
ooy 30,9003 »1H*x251 7,756
Os5g2F+g 30,900 *150%+ 1 x62 2,874
O = 30,9003 »1H 52 1,607
Odx=g 30,900& x1H » 12 371
Ooida z2e| ofY 12,608
(@)l ge 30,900 »1H*x251 7,756
Osgz2=f=g 30,900 *150%+ 1 x62 2,874
O = 30,9003 »1H 52 1,607
O 30,900 x1H x 12 371
O=HM=2 MI|&H| 2elel 14,255
ooy 108,805& *1H 92 10,011
Osga=:=¢g 108,805 *150%* 1 18 2,938
ORrE5gsg 108,805 1H =12 1,306

201 Yureg| 26,520 18,120 8,400

01 AtS2eld] 3,000 3,000 0
OXAN22E E57L 3,000
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SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 il b o B2
02 222l 23,520 15, 120 8,400
Ol B2l +42 350,008 x50 4122 21,000
OFHZ gatael 248 210,000 * 128 2,520
206 T2l 69,850 67,450 2,400
ICEL 69,850 67,450 2,400
ODLP PROJECTE 2l 800,000 * 1204 *13] 9,600
OFMD YBEY 25,0002 %0074 12 12,000
FHB S2EY 7Y 30,280
OELLIPSOID LIGHT(400AI 2} JIF)
50,0002 54 03| 2,250
OSPOT LIGHT(200AI2+ 1)
45,0002 <247} * 143 15, 120
(OSTROBE LIGHT(6IHE JI=)
150,000 *67H *23] 1,800
OMOVING SPOT(700AI2¢ DI %)
300,0002 67} *33] 5,400
OF00T LIGHT(1,000A12¢F JI %)
15,0002 187} *43] 1,080
OLON HORIZONTAL LIGHT(1,000A12¢ JIZ)
10,0002 *96H 33 2,880
OEFFECT MACHINE 7,00024 %2504 1,750
O LB 2r 7Y 7,00024 *600H 4,200
OHEP 2YSE (VD) 8,470
OLYA0IE BT 517,000 x27} %23 2,068
OT 2H0IE 2 = (250M)
44,0002 1224 523! 1,086
OTF 2H0IE BI(5750) 82,5002 «4H+23] 660
OYY A0S 2H0|E BT
77,0002 ¥4} x23] 616
OAE=RY 2lo|E BT
385,000% * 17423 770
OLDZRHME BT 825,0002 x2 7} x23| 3,300
OJ2S ¥ ZYS I 7Y
25,0002 *2007H 5,000
OXIA 72 2YSE 7Y
15,0002 ¥55 *43] 300
307 eIztolH 21,000 41,000 220,000
05 OIsIED 21,000 41,000 20,000
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Mn: A2 NEGHE DA EA
Ol SIETBBI ALS 29 L 2 CEE-E
S EB O (H) - NBEAY - BAS Of) & 04 dE= HDZ2
OFBNE HA 29 15.000,0002 *13] 15.000
ORI B AS 5.000, 0002 *13] 5.000
O=HP 2 2 200, 0002 53] 1,000
401 AEHL 20 259,885 155, 185 104,700
01 A2 259,885 155,185 104,700
OZXJ TH DARY 15,5002 %357} 23] 8.085

©O4D Fatzt =MH (B 2lZd+)

14,000, 0002 *2C§ %23 56,000
OE44 W)l HBEY
6,000,0002! +14} 6,000
oYLl KRB0 1,50021%10,000 £ *8% 120,000
©ADY A BH(HAI| D H) 4,000, 0002 *43] 16,000
UM w2l B4 50,0002 +2000H 10,000
UL AL HIHEX
1,500, 0002 x27H A 3,000
OSHIIBANE YREY U 24
8,50021 2,400 *25] 40,800
moAE 2 267,868 188,067 79,801
101 Q12| 197,168 113,293 83,875
10 JIANEENHSES 197,168 113,293 83,875
OFHZ AUzl 29 ol 37,824
ooy 30, 90021 32 x2512! 23,268
Ofgaesg 30,9002 * 150%+3 x622 8,622
OR28Y+Y 30,9002 32 ¥522 4,821
O Xt 30,9002 %38 122 1,113
OZET HESY oy 25,216
ooy 30,9002 28§ x25124 15,512
OfgaRsY 30,9002 * 150%+223 x62 5,748
ORzELLY 30, 90021 284 ¥522 3,214
0ol xpagt 30,9002 284 122 742
OYETAUDY 2% o= 25,216
oosy 30,9002 22§ x2512 15,512
Og2aR+y 30, 90021 * 150%+2 2 %622 5,748
ORzFL+Y 30,9002 284 ¥522 3,214
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HH: A22 NESs A X4
el BT BEN AAE 29 I B (et9l: &2
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2

O¥ Xt 30,9003 x2H x 12 742
O=ZE MR oIF 10,383
ool 30,9003 »4H 60 7,416
Osda=2syg 30,9003 *150%*4H « 10 1,854
Oragsgd=sg 30,9003 »4H x9 1,113
OHH&E &g 2R 12,608
ool 30,900%1¥ »251 7,756
Oxsgdzf=g 30,900 *150%+ 1S x62 ! 2,874
ORsSsdsY 30,9003 1 x52 1,607
Odx=Y 30,900 x1H » 12 371
OEgI Ex2dE 2 17,952
ool 44,0003 x 18 +251 11,044
Osgzesd 44,0003 *150%* 1 62 4,092
ORrasgd=sg 44,0003 x 1 52 2,288
Odxt=& 44,0003 x1H 12 528
OEI orEE 22 50,431
ooled 30,9003 4% 251! 31,024
Osgz2=f=g 30,900& *150%*4H x62 11,495
OnrZsgsg 30,9003 x4H x52 6,428
OAXt=E 30,900& *4H x 12 1,484
oxF2z=z it 212 30,9003 x4 62 7,664
CZt0|g YT 1Y 9,874
ool 30,9003 x3H »73 6,768
OFgZesY 30,9003 *150%*3H x 15 2,086
ORrasd=sg 30,900 x3H x 11 1,020

201 LB29H| 58,200 38,674 19,526

01 At 2t2ldl 7,700 17,500 29,800

OHEAHI 2222 <

100,000& *565 *23] 1,000
QU=EE 292E ¥ 500,000& 58 2,500
OEI ot 212 MEH 1,000,000& x2& 2,000
OH AR &M EI 100,000 = 12& 1,200




SN 2BRAA
M@ U2E X gots 2PN EH
Ol QR TEBBN NS 29 L 22 (5 &2
5 o SIEN
N EH - S2A(3H) - MRAE - BES Off &F K Ol Ak O &
CEERNFEEERE 100,000 * 10JH 2 1,000
02 IS 50,500 21,174 29,326
O3t KX 22l 5,000, 00021 *24} 10,000
OEHUI REH
1,50024 %2, 5k 1231 #1.5 £ *2CH*3002 40,500
206 &bl 5,000 0 5,000
T 5,000 0 5,000
OOAZH oZ L W27
500,000% *5 % *23] 5,000
405 XH&HE S| 7,500 6,100 1,400
01 KHAYSEF S| 7,500 6, 100 1,400
OPOSAIAE 7l 3,500,000 *2CH 7,000
O+Y=UOA MEIIRY 500, 0002 * 1A 500
BN BN 222,889 54,084 68,805
101 Q12| 87,367 74,302 13,045
10 JIAHNZENSE+ 87,367 74,322 13,045
OZMII XY oY
30,9002 52 » 152 %23 4,635
OuFHTY o2y 70,0002 22 » 102 %23 2,800
oszE2 QY 54,716
ooy 44,7001 +32 +2512 33,660
Og2aR+y 44,7002 * 150%+3% #622! 12,472
ORzFL+Y 44,7009 +3 %502 6,974
O x4 44,7002 x3 * 122 1,610
os I el ARY 25,216
ooRy 30, 90021 22 x2512! 15,512
OfgaR+y 30, 90021 *150%+2 2 %622 5,748
ORzFEL+Y 30, 90021 22 ¥522! 3,214
Ol x4t 30,9002 28] 122 742
201 L2yl 58,562 47,302 11,260
01 AF=Raelt] 32,100 24,900 7,200
OTEHFA 228 7Y
100,000 %974 £ * 122 10,800
oMYl 25 R 1002 600,000 * 1/4 15,000
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SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
OHA 2 HAT D P
40,0003 x10&+12& 4,800
Ojtzs 82 I otED| 30,0003 *50H4 1,500
02 22944 26,462 22,402 4,060
OAdA==2 R 20,862
OYEE2ACARA 2,470& 270m* 667
OggxEAHIH 2,470& =102m’ 252
O=E 2,470 97 m’ 240
OLe+=HMel& 2,470 484’ 1,196
OXtAHALE S 2 3713 x772M 287
O==sH A2 3713763 m 284
Oggdoida 1,687&x195m’ 329
OAsdue 2 1,687&*119m’ 201
OAAL=RH & 2,470 %6,421m’ 15,860
O& 1,687&3 x74m 125
O&ol=% 1,4413x74m 107
Os3AM 1,687&3x150m’ 254
(@F=gn] 1,687 & 56 M 95
O=2EZ2eld 2,470 «x112m* 277
Ost&E4A 781& %701 m 548
O A 1,300& x61m* 80
Ost=8E 1,300& =46 M’ 60
©Z2J,HHJ & FA= 400,000& x4S 1,600
O==2&dAX 2E=E +
200,000& 55 *43] 4,000
206 THZHI 16,960 8,460 8,500
01 Xz Hl 16,960 8,460 8,500
0= 2¢ 100, 000& 103! 1,000
gld 2 27y 20,000& 1002 2,000
O=0lAE=E 2=+ M+ 3,000
OiLs2d M2 20,000 x4 £+ 123 960
OstdE4dE st=F ¢
500& %10,000=*23] 10,000
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M@ U2E X gots 2PN EH
Ol QR TEBBN NS 29 L 22 CEEED
_ _ SIEN
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il i~ o B2
307 QI2H0IF 60,000 24,000 36,000
05 RIRSIES 60,000 24,000 36,000
0™ L 2B 5,000,0008! * 122 60,000
BBA x4 9,451,000 3,567,900 5,863, 100
= 2,730,000
| 500,000
= 1,619,000
2 4,602,000
S TR 5,690,000 3,587,900 2,102,100
= 1,530,000
= 1,259,000
2 2,901,000
401 ASHLLHY 5,370,000 3,587,900 1,782,100
= 1,530,000
= 1,259,000
2 2,581,000
01 Al&H] 5,345,000 3,572,900 1,772,100
OL LA N 3,045,000
2 1,530,000
= 459,000
2 1,056,000
OUAT ZXE FAAL 300,000
= 300,000
OB HIBY EX0HL 1,000,000
OEHYZ FREZHES UL ZHAX
1,000,000,00021 *14} 1,000,000
= 500,000
2 500,000
03 A& 25,000 15,000 10,000
OZETAZX N 15,000
OB HIWY EXHL 10,000
403 XHXIGHHISXH2O0IH 320,000 0 320,000
02 ZIIZSHHE A 320,000 0 320,000
OYLLSTHA=NZ AHYAY 320,000
SUE ZEUXE S 2,400,000 0 2,400,000
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SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
stete ZEL A= Al = 1,200,000

& 360,000
= 840,000
401 AIEHIL RO 2,400,000 0 2,400,000
s 1,200,000
& 360,000
i 840,000
01 Al&HI 2,385,000 0 2,385,000
OtetEs X352t HE 2,385,000
[ 1,200,000
= 360,000
fiis 825,000
03 A& =0 15,000 0 15,000
Ostete Xt=stazt AE 15,000
gatZaadXl JIBtAIE EHI 361,000 0 361,000
401 Al &HIZ 20 361,000 0 361,000
01 Al&HI 361,000 0 361,000
OSNd=Mddl HHISA
15,000,000& *27 2 30,000
O1,2=XE F=XFRA XIS A
5,000, 000 *2H 2~ 10,000
OZ28XE= HOE &4 50,000,000 *14] 50,000
O5,6FXE ZHERZE EXSA
15,000, 000& *504 2 75,000
OZE =01 &S EX3A
3,000, 000 *4H 2 12,000
OREIZE =82 TMZA(130tal) 50,000
o2& W Sa&dl Ehl
600, 0003 *4001 2 24,000
O3 IHAE £X 15,000, 000& *304 2 45,000
OEgd =2 AgsH =2FH|
200, 000& *150m 30,000
Cz&EUH =228 s&FHI 100, 000& *350m 35,000
SEHIOtst 2t AE 1,000,000 0 1,000,000
Il 500,000
= 500,000
401 Al&HIZ =20 1,000,000 0 1,000,000
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_ _ MNuE o
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot Hws2
401 Al&HI LY p 500,000
= 500,000
01 A& 1,000,000 0 1,000,000
OZEH OIS 2 1,000,000
p] 500,000
2 500,000
oA TS AL2 QK| 2 3,600,000 2,200,000 1,400,000
MINAATESSSAX S (D ZTRNL) 3,600,000 2,200,000 1,400,000
306 =012 3,600,000 2,200,000 1,400,000
01 B3 3,600,000 2,200,000 1,400,000
OANAT X2 3,600,000
A 2 OIHIE I 80,000 110,000 30,000
= 25,000
= 55,000
YBTHEHA 2X 5,000 5,000 0
307 QI2H0lH 5,000 5,000 0
04 BIIBAIZE 5,000 5,000 0
OYEEHEYAIR E 5,000
HEIHEHHRZAHS 75,000 0 75,000
= 25,000
= 50,000
201 pr2oyl 75,000 0 75,000
= 25,000
= 50,000
03 A2 75,000 0 75,000
OM3E HRNSH FRZAYS 75,000
< 25,000
2 50,000
fresme 59,734 68,347 18,613
srecss ga 59,734 68,347 18,613
101 Q124 9,734 19,403 19,669
10 JIARIZNSES 9,734 19,403 19,669
osTEEE el 2Ry 9,734
O o=y 30,9009 12 %251 7,756
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SH 2BTALA
HH: A2E2 NESls 2BA X4
& HZEIFEF 2 (ctel: &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
O REse 30,9003 »1H 52 1,607
O Ax=¢ 30,900 x1H » 12 371
401 Al &HIZ2C0HYI 50,000 48,944 1,056
01 A&l 50,000 48,944 1,056
oM U Ald= HbI 50,000
MATANZSH AX2Z 102,066 0 102,066
SEL4AEZR 2F 102,066 0 102,066
101 2121H] 25,216 0 25,216
10 JI2ZHH22sSEs 25,216 0 25,216
OAal2d 22Xt 22Y 25,216
(@)l g 30,900 »2H 251 15,512
Osgz2=f=g 30,900 *150%*2H x62 5,748
Oss5gsY 30,900 »2H x52 3,214
(@) PyUEa=y 30,900& »2H 12 742
201 Let3| 67,550 0 67,550
01 At 2teld] 1,250 0 1,250
OAZEd MdJ| s&+Y 1,250& 2000H 250
OA24d HHFESH +¢ 10,000& *10Z* 104 1,000
02 3224l 66,300 0 66,300
otteg RE-¢ 1,500& *2402| £ *180! 64,800
OA&Z&EHl =Xl 300,000& 54 1,500
206 T2l 9,300 0 9,300
01 &l 9,300 0 9,300
O=24ag Als7¢ 10,000 20& * 152 3,000
OflH & 2&7Y 15,000& »2&*100L 3,000
ogsdl gM s2%+¢ 20,0003 »7&+154 2,100
OAZSMHHHE J2HM & H=z+
12,0003 2& x50 1,200
el ZE=xH 4,224,663 721,582 3,503,081
= 240,000
& 1,872,000
= 2,112,663
gt dE=EY 4,224,663 721,582 3,503,081




SN 2Z XA A
=L R E e
CHel: SiElOr YEEZTA (S92l
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
gt YExT Y s 240,000
& 1,872,000
= 2,112,663
getuofd0telLtAId =S 480,000 600, 150 2 120,150
s 240,000
& 72,000
= 168,000
401 Al&HIZ20HYI 480,000 600,000 A120,000
s 240,000
= 72,000
i 168,000
01 Al&HI 477,000 600,000 A 123,000
OLSEHADIZILIAIL 4 477,000
s 238,500
& 71,550
i 166,950
03 AIZ=C0HHI 3,000 0 3,000
oggEofditelLiAld =4 3,000
s 1,500
= 450
i 1,050
tHetel= FIMREUH 3,320,000 0 3,320,000
& 1,800,000
= 1,520,000
201 Let3y| 20,000 0 20,000
03 EAI2ZHI 20,000 0 20,000
©2009 (43012 2RQENE SL2A 2
o 20,000
401 A &HIZ20YI 200,000 0 200,000
01 A&l 200,000 0 200,000
©2009 CHetel=2 SHMLEUE L& AIAl
H(ZE) 200,000
402 SIZ2HX =01 3,100,000 0 3,100,000
= 1,800,000
i 1,300,000




SN BRIAA
HH: HYYEZEA
9l IS0l YEETH (&9 da)
SM-EH . C(BH) - HRAY - B2 Ofl &+ 04 glggf; HRs2
T EYEL 3,100,000 0 3,100,000
©2009 LHEtel= S MREUH 1,300,000
ORE - HE MA 1,800,000
< 1,800,000
HdE=2d 424,663 121,432 303,231
101 Q12| 89,763 36,432 53,331
10 JIAM22HSES 89,763 36,432 53,331
oNEnsD o=y 60, 109
SLIELT 96,9502 x22 x252 + 102 48,475
O = 96,9503 »2H 50 9,695
OAXt=g 96,9503 »2H 10 1,939
ousLELA oS 22,628
(@FelE =l 72,9903 x 1 #2520 x10& 18,248
ORs5g=+H 72,9903 »1H x50 3,650
Ot 72,9903 x1H+10 730
o4 E¥= 7,026
OZUHA=RES 82,737,000& *45/1,000 3,724
OUMEER 82,737,0002 *6/1,000 497
ons:gx 82,737,000& *15/1,000 1,242
oAYRE= 82,737,000+ 18.15/1,000 1,502
OIRAEE= 1,502,000%4.05/100 61
201 Lt 123,400 40,000 83,400
01 At 2teld] 64,000 40,000 24,000
OIAFTMRE Xt 1,700,000 x2& « 10 34,000
oNYUTZLY 222 ME 30,000
02 23294l 9,900 0 9,900
O=x%d 2F RF4 1,800& +5,5002 & 9,900
03 A2l 49,500 0 49,500
O32HRE S& HalolS
500,0002 * 15% x53| 37,500
ODMBA B2 FCHBUE ELEX
= 10,000
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SN BRIAYA
HE: fUYEEEH
o9 S0 YEETY (5l &2
_ _ HE T
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o HRs2
OREMWAZSI LA B2 M 2,000
01 YA 31,500 0 31,500
08 2QIEI=3E0HI 15,000 0 15,000
OEZENHIAZA QESDE XX
5,000,000 *3H *13] 15,000
10 SAIAHIEAS 13,500 0 13,500
OMIUCHEEZHYTXHE B4 22y
5,0002! %30% *94] +53] 6,750
OH2RESSAXHSH B4 2|
5,000 *30E 94! 53] 6,750
12 JIEI2 A3 3,000 0 3,000
OREMUASEH DAY QLEMS AAD 3,000
307 QI2t0IA 40,000 30,000 10,000
04 DIIEATEE 40,000 30,000 10,000
OndTZ=tl &= FEMEUS = 40,000
405 XHAHESHI 140,000 15,000 125,000
01 XML ESEFHSHI 140,000 15,000 125,000
OUEE LA HNAEZ=EH 2 140,000
OYENME 245 70,000
OoglIeE 7,000, 0002 10CH 70,000
HY2FZH 114,529 80,677 33,852
S HY (BRIAL L) 4,200 3,000 1,200
e =AY 4,200 3,000 1,200
203 HRF&H 4,200 3,000 1,200
04 REN2IIRFLEH 4,200 3,000 1,200
OFAM2E JRF2AHI 350,000& *12& 4,200
Jl2ZH (22 XAIE L) 110,329 77,677 32,652
et A| 74,329 54,277 20,052
201 Lt 74,329 54,277 20,052
01 AtS2eld] 74,329 54,277 20,052
oRA2Y Jlg 224 21,113
O=Zt| 50,0003 x2H «365 36,500
o=l 7,000 & *20H x60%*4 4! x 122 4,032
o1l =H| 100, 000& 20K 2,000
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SHol: DI HHI (2B T AR L) (Er9): &2
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SH-EH . S2(30) - MRAY - BES Ofl & 04 Sl ko HRE2
omelg =eltl 34,0002 *63l 204
oZgH & 2 120,000& 43 480
o=Al EH 7Y 300,002 *43] 1,200
OMOIMIZRIE 2at EH(Sg)7Y
400,000& *62 2,400
OANRES #¥ 20,0003 708 A x33] 4,200
O= Al |*X 300,000& *53] 1,500
oOWmAI|l KX 100,000& 335! 300
ogNA 28 7Y L FTAE
200,000& 23| 400
oidl 36,000 23,400 12,600
202 OHl 36,000 23,400 12,600
01 =LAl 36,000 23,400 12,600
O=LHbI 150,000& «20H « 122 36,000
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